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1= bIf sfdbf/ (Skilled Labour_

s= Jnfi^/ 
k|lt lbg 

k|lt JolQm
865 950 1000 1000

v=

/s l*n/÷x]eL *«fO{e/ ÷j]N*/ ÷KnDj/

÷ljikmf]^s kbfy{ (ÚjfgLug]{

HofdL÷*sdL{÷gsdL{÷l;sdL{÷jh|sdL{÷

lrqsf/L÷x]eL l;lgo/ ck/]^/÷sDKoú̂ /

ck/]^/÷c^f] d]sflgS;\

k|lt lbg 

k|lt JolQm
725 795 850 940

2 cb{bIf sfdbf/ (Semi Skilled Labour)

s= cb{bIf sfdbf/ (Semi Skilled Labour)
k|lt lbg 

k|lt JolQm
600 660 700 770

3 cbIf sfdbf/ (Unskilled Labour)

s=

HofdL÷e/Lof÷HofdL gfO{s]÷ hÚlgo/ ck/]^/

÷pTk|]/s÷ ÷x]eL x]Nk/ ÷;e]{ x]Nk/÷cjfn]

÷O{§f jgfpg]÷SofDk/ js{/÷;fwf/)f

x]Nk/÷Nofj Jjfo ÷g;{/L gfO{s]

k|lt lbg 

k|lt JolQm
525 575 625 690

v=

df};d /]s*{/ ÷ x]/fnÚ÷dfnL÷rf}sLbf/÷lkog 

kfn]÷r]g d}g÷ ]̂k d}g÷:^fkm d}g÷xnÚsf 

sfdbf/

k|lt lbg 

k|lt JolQm
475 525 550 600

u= n]Gy js{/x? -;*sdf sfd ug]{_ 450 495 520 570

#= lgdf{)f ;"k/efOh/÷x]Nk/ -ufl*sf]_ 440 485 500 550

ª nfO{^ *«fO{e/ 525 575 600 660

r= Kofr js{/ (Patch Worker_ 525 575 600 660

%= n]Gy js{/ ;"k/efO{h/ 475 525 550 600

h= d]xQ/ ÷ :jLk/ -emf*" nufpg]_ 440 485 500 550

)&@÷)&# )&#÷)&$ )&$÷)&% )&$÷)&%

1= lhNnf leq el/of $f/f ;fdfg (ÚjfgL 

110 110 110 115
3f]8f 

vRR8af6

145 145 150 160 el/of

145 145 145 150
3f]8f 

vRR8af6

220 220 220 250 el/of

220 220 220 250
3f]8f 

vRR8af6

330 330 330 350 el/of

  gf]^M laB"t sfo{sf] xsdf g]kfn laB"t k|flws/)fsf] txut zÚ? tna :s]n cg";f/ xÚg]]% .

HofdL Hofnf b//]6

;lhnf] ;fdfgx? -l;d]G^, lu§L, O{§f, df^f],

jfnÚjf cfbL_

k|lt 

ls=dL=÷ 

SjLG^n

l;=g+= ljj/0f O{sfO{ 

d'=c=s (VAT) afx]s -?=_ cf=j

d'=c=s (VAT) afx]s -?=_ cf=j

s=

9'jfgL Hofnf

l;=g+= ljj/0f O{sfO{ 

 s}lkmot 

s}lkmot 

k|lt lbg 

k|lt JolQm

u=

clt c;lhnf] ;fdfgx? h:t} emf]=k"= sf

n&\&fx?, |̂fG;kmd{/, lah"lnsf kfO{kx?

k|ltls=dL=÷ 

SjLG^n

c;lhnf] ;fdfgx? - Ú̂^kmÚ^ xÚg] ;d]t_ h:t}

h:tfkftf, *)*L, lh=cfO{=tyf sfnf] kfO{kx?,

cfO{/g Pén, Unf;, ;^/x?, «̂;, P]gf,

afy?dsf kmÚ \̂g] ;fdfgx? 

v=

k|lt 

ls=dL=÷ 

SjLG^n
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HofdL Hofnf b//]6

d'=c=s (VAT) afx]s -?=_ cf=j

l;=g+= ljj/0f O{sfO{ s}lkmot 

2=
^«s jf ^«ofS^/jf^ (ÚjfgL -nf]* cgnf]* 

afx]s_
O{sfO{ )&@÷)&# )&#÷)&$ )&$÷)&%

s= kSsL ;*s ;fdfg (ÚjfgL 
k|ltls=dL=÷ 

SjLG^n
1.5 1.50 1.75 2.00

v= sRrL ;*s ;fdfg (ÚjfgL 
k|ltls=dL=÷ 

SjLG^n
3.7 6.00 8.50 11.00

u=
«̂ofS^/ dfq rNg] ;*sdf «̂ofS^/ jf^ 

(ÚjfgL 

k|ltls=dL=÷ 

SjLG^n
9.35 9.35 9.50 12.00

# cfOr/ \̂sjf^ (ÚjfgL -wflbª÷lqz'nL_  k|lt l^«\k 13000.00

ª «̂\k/jf^ (ÚjfgL -wflbª÷lqz'nL_   k|lt l^«\k 15000.00

3=

^«s jf ^«ofS^/jf^ cfotg jfnf ;fdfgx? 

h:t} kf]lnlyg ^}+s, kfO{k cflb xn "Ëf] ;fdfg 

tyf clt c;lhnf] ;fdfgx? (ÚjfgL -nf]* 

cgnf]* afx]s_

s= kSsL ;*s ;fdfg (ÚjfgL 

k|lt 

ls=dL=÷ 

SjLG^n

95.00 95.00 95.00 105.00

v= sRrL ;*s ;fdfg (ÚjfgL 

k|lt 

ls=dL=÷ 

SjLG^n

160.00 200.00 205.00 225.00

4= nf]* cgnf]*

s=
;lhnf] ;fdfgx? -l;d]G^, lu§L, O{§f, df^f],

jfnÚjf cfbL_  
k|lt s]hL= 0.30 0.30 0.30 0.35

v=

c;lhnf] ;fdfgx? - Ú̂^kmÚ^ xÚg] ;d]t_ h:t}

h:tfkftf, *)*L, lh=cfO{=tyf sfnf] kfO{kx?,

cfO{/g Pén, Unf;, ;^/x?, «̂;, P]gf,

afy?dsf kmÚ \̂g] ;fdfgx? 

k|lt s]hL= 0.50 0.50 0.50 0.55

 

User
Stamp

User
Stamp


